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( Corporate Laws)
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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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1. Choose the correct answe.r for the following
questions : 1x10=10
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(@) The minimum number of members in
a private company is
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(b) 'hich one of the following documents |

1-Sfrequired to be filed with the Registrar
? Companies at the time of |
Incorporation of a public company ? |

(d) The remuneration of first auditor of a

company is fixed by the
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(i) Managing Director

(i) Memorandum of Association
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(iti) Prospectus (ii) Company Secretary
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(iv) All of the above (iv) All of the above
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N A D | (i) Articles of Association can be altered
G frector cannot be reappointed. by passing a special resolution.
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e ?I]f%:\@ RYG) ‘33‘7. 3 2. Answer the following questions : 2x5=10
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F5 OrTect (a) Write the names of four statutory
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i I
NCorrect | siEs &ita iR S i
Sl ,
4 (Sem-2/CBCS) tigy L/ | 4(Sem-2/CBCS) HC2(CL/G S Contd.

A




e o

yariog /. 9/l10) z0H (8040/¢-Wes) ¥ -

i I‘Ue‘ o
erpuj ul Suruonoun} $911031sodap Sl bllsllac o) Balall g Mjﬂ lebly
oMy JO SoUrBU oU) I)LIM OS[y ‘WI)SAS Aueduros AR Lllowl? oD il
‘Kroyisodop Jo sainjes; ouyy ureldxd  (f) | areand usamyaq Sa;uajg;? Aueduwon
' ; { P Sy aaum (o
_ { (o)
|l [olob 9feq Bhiclhblle blbaial loal |

| > (lakjia liaisopy)
| E@@&:&m@@g@%%m%: E:L:"—i

e {inof Auw) : yoes Spiom QOZ
*HOqB U1 suonsonp 3uimoryoy oy Jomsuy

*Kiopsodap
jo sagejueApE 9yl 23BIs Ajjelid (2)

&
b lslob 0fkq 10kbl Bhbliale bbbl Kol

"PUSPIAIP B ¢Bllle bu)
- Bkl sl
jo sad£) snorrea dyj 91e3S Apyerag  (p) Adg] Sulble lolde] BlAB | sllse o)
| B JO IO)Ipne se ¢ Aueduros
bt Lo kA Blleelizbl | : Pojwodde oq wes oy ()
gmnw@mbmmgg&g@w | Lo $1l) Sl Blavg
| +KAuedu1od B JO : B 7 ¢ HORNosaI reroads st Teym (p)
Suneaw [BIOUSS [BNUUE 241 Surpresal | lbke] ol
__suoisiaoad UlewW Y3 2}EIS Ap3otad (_9) | 1k el Blloblletsts) blERBle il f
| HOREI0SSY Jo saponzy
| bl BibfDEle 2R UONBIO0SSY Jo wnpuesowsyy
[k Sl blbl) bdls slia bRIEE bia o002 seopRanpio e W)
‘soleysS JO UOISSTWISUERI} PUE | L0l i bl

TOJSUBI] TUS9M)SQ SIDUSISHIP oum (q) ¢ sSmoadsoid st ey, (q)

—




4 (Sem-2/CBCS) HC2(CL) /g

4

e EEE——— e
— o

Answer the following questions in about
600 words each - %

ol 10x4=40
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What is company ? State the

characteristics of g Company

2+8=10
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(b)

(c)
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Discuss the procedures of alteration of

(i) Name clause, and (i) Object clause

of Memorandum of Association.
- 74+43=10
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What is forfeiture of shares? State the
procedures of forfeiture of shares. Also

state the effects of forfeiture of shares.
2+4+4=10
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What is the meaning of ‘Director’ and
‘Board of Directors’? Discuss the
different types of director of a company
on the basis of provisions of the

Companies Act, 2013. 2+8=10
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State the functions of the different
committees required tg be formed by
the Board of Directors of 4 company.

10

™ @B TS ARTm st s R
ﬁf@ﬂﬁ%ﬂwwz:@w!

What is dividend ? State
Provisions relatin
dividend by a co

the Statutory
g to declaration of
mpany, 2+8=10
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State the circumstances under which
4 company may be wound up by the
Nationa] Company Law Tribunal,
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